	Auction Title:141-21 Commodity Processing	Bid Rfq Num:32296						*Confidential
								Confidential
Ln#	Award (Y/N)	Reason	Item Description	Quantity	UOM	Price	Extended Price	Supplier
1			Beef Patty, Breaded					
1.01	Y		(USDA-P) BEEF PATTY, BREADED, WG	800	CS	22.75	18 200 00	TYSON PREPARED FOODS INC
				000		24.27	19,416.00	GOODMAN FOOD PRODUCTS
						41.83		*JTM PROVISIONS CO INC
1.02			Beef Patty, Breaded	250	CS	58.96	14,740.00	TYSON PREPARED FOODS INC
						75.29	18,822.50	GOODMAN FOOD PRODUCTS
							24,317.50	*JTM PROVISIONS CO INC
2		000	Beef Fingers, Breaded	4500	00	00.70	05.550.00	OCCUMENT FOOD DOODLIGTO
2.01		3PP	(USDA-P) BEEF FINGER, WG	1500	CS	23.70	35,550.00	GOODMAN FOOD PRODUCTS
	Υ					29.70	44,550.00	TYSON PREPARED FOODS INC
2.02			Beef Fingers, Breaded	500	CS	59.10		TYSON PREPARED FOODS INC
			Dest (Destre			72.06	36,030.00	GOODMAN FOOD PRODUCTS
3 3.01	N	3TQ	Beef Patty (USDA-P) BEEF PATTY 240/CASE	4000	CS	14.18		TYSON PREPARED FOODS INC
	N Y	3PQI				23.29 27.28	93,160.00 109,120.00	GOODMAN FOOD PRODUCTS INTEGRATED FOOD SERVICE
							113,920.00	*JTM PROVISIONS CO INC
3.02			BEEF PATTY, 240/CS	1000	CS	71.48	71,480.00	TYSON PREPARED FOODS INC
						74.72	74,720.00	INTEGRATED FOOD SERVICE
						81.34	81,340.00 90,940.00	GOODMAN FOOD PRODUCTS *JTM PROVISIONS CO INC
4			Beef Crumbles					TV0011 DD5D4D55
4.01	N N	3PQI 3PQI	(USDA-P) BEEF CRUMBLES, 30#/CASE	300	CS	21.37	6,411.00 7.377.00	TYSON PREPARED FOODS INC *JTM PROVISIONS CO INC
	Υ					62.41	18,723.00	INTEGRATED FOOD SERVICE
4.02			Beef Crumbles	100	CS		8,801.00	*JTM PROVISIONS CO INC
						119.70		TYSON PREPARED FOODS INC
						155.55	15,555.00	INTEGRATED FOOD SERVICE
5			Beef Steak, Sliced					TVOON PREPARES FOODS INC
5.01	N	3PQI	(USDA-P) BEEF, SLICED (30#/CS)	500	CS	56.47	28,235.00	TYSON PREPARED FOODS INC

				1				
Ln#	Award (Y/N)	Reason	Item Description	Quantity	UOM	Price	Extended Price	Supplier
	Y							*JTM PROVISIONS CO INC
5.02			Beef Steak, Sliced.	200	CS		25,142.00	*JTM PROVISIONS CO INC
						133.16	26,632.00	TYSON PREPARED FOODS INC
6			Beef Sausage Patty, Bulk					
6.01	N	3TQ	(USDA-P) Beef Sausage Patty	750	CS	24.88	18,660.00	INTEGRATED FOOD SERVICE
	N	3TQ				25.80	19,350.00	GOODMAN FOOD PRODUCTS
	Y					26.37	19,777.50	TYSON PREPARED FOODS INC
6.02			Beef Sausage Patty, Bulk	250	CS	NB		GOODMAN FOOD PRODUCTS
						57.72 104.20	14,430.00 26,050.00	INTEGRATED FOOD SERVICE TYSON PREPARED FOODS INC
7 7.01	Y		Beef Sausage Patty, Maple Flavored. Bulk. (USDA-P) Beef Sausage Patty, Maple Flavored. Bulk.	750	CS	30.67	23,002.50	INTEGRATED FOOD SERVICE
7.02			Beef Sausage Patty, Maple flavored. Bulk	250	CS	60.94	15,235.00	INTEGRATED FOOD SERVICE
8 8.01	N	3PQI	Beef Taco Meat (USDA-P) Beef Taco Meat, Boil in bag.	2500	CS	27.60	69,000.00	GOODMAN FOOD PRODUCTS
	Y					57.08	142,700.00	*JTM PROVISIONS CO INC INTEGRATED FOOD SERVICE
8.02			Beef Taco Meat, Boil in bag.	500	CS	69.30	39.420.00	GOODMAN FOOD PRODUCTS *JTM PROVISIONS CO INC
9			Cheeseburger sliders, IW			102.92	51,460.00	INTEGRATED FOOD SERVICE
9.01	N N	3PQI 3PQI	(USDA-P) Cheeseburger sliders, IW.	150	cs	47.51 51.24	7,126.50	GOODMAN FOOD PRODUCTS INTEGRATED FOOD SERVICE
9.02	Y	31 Q1	Cheeseburger sliders, IW.	50	CS	64.31 63.30	9.646.50	TYSON PREPARED FOODS INC INTEGRATED FOOD SERVICE
9.02			Cheeseburger silders, IVV.	50	CS	78.72 85.88	3,936.00	GOODMAN FOOD PRODUCTS TYSON PREPARED FOODS INC
10			Beef Sausage Biscuit Sandwich, IW.				,	
10.01	Y		(USDA-P) Beef Sausage Biscuit Sandwich, IW.	1000		38.85 47.80	47,800.00	TYSON PREPARED FOODS INC INTEGRATED FOOD SERVICE
10.02			Beef Sausage Biscuit Sandwich, IW.	300	CS	56.60	16,980.00	INTEGRATED FOOD SERVICE
						61.04	18,312.00	TYSON PREPARED FOODS INC
11			Beef Sausage and Cheese on Hawaiian Bun, IW.					
11.01	N	3PP	(USDA-P) Beef Sausage and Cheese on Hawaiian Bun, IW	1000	CS	37.79	37,790.00	TYSON PREPARED FOODS INC
	Υ					40.07		INTEGRATED FOOD SERVICE
11.02			Beef Sausage and Cheese on Hawaiian Bun, IW	300	CS	60.95 NB		GOODMAN FOOD PRODUCTS GOODMAN FOOD PRODUCTS
						47.41	14,223.00	INTEGRATED FOOD SERVICE
						48.41	14,523.00	TYSON PREPARED FOODS INC
12			Beef Maple sausage and pancake sandwich, IW.					
12.01	Y		(USDA-P) Beef Maple sausage and pancake sandwich, IW.	1250	CS	49.10	61,375.00	INTEGRATED FOOD SERVICE
12.02			Beef Maple sausage and pancake sandwich, IW.	550	BD	59.60	32,780.00	INTEGRATED FOOD SERVICE
13			Beef Maple sausage on Hawaiian bun, IW.					

Ln#	Award (Y/N)	Reason	Item Description	Quantity	UOM	Price	Extended Price	Supplier
13.01	Υ		(USDA-P) Beef Maple sausage on Hawaiian bun, IW.	1250	CS	48.10	60,125.00	INTEGRATED FOOD SERVICE
13.02			Beef Maple sausage on Hawaiian bun, IW.	550	CS	56.90	31,295.00	INTEGRATED FOOD SERVICE
14			Egg Patty					
14.01 14.02	Υ		(USDA-P) EGG PATTIE 300/CS EGG PATTIE 300/CASE		CS CS		1,750.00	*MICHAEL FOODS *MICHAEL FOODS
15 15.01	Y		Eggs, Scrambled. Boil in Bag. (USDA-P) EGGS, SCRAMBLED, 6/5 LB. CARTONS/CASE	1500	CS			*MICHAEL FOODS
15.02	Y-ALT		EGG SCRAMBLED 6/5 LBS.	200	CS	55.10	82,650.00 6,704.00	*JTM PROVISIONS CO INC *MICHAEL FOODS
16			Turkey Taco Meat				12.994.00	*JTM PROVISIONS CO INC
16.01	Y		(USDA-P) TACO MEAT, TURKEY, 28 LBS/CASE	3500	CS		128,380.00	*JTM PROVISIONS CO INC *JENNIE O TURKEY STORE SALES LLC
16.02			TACO MEAT, TURKEY, 28 LBS/CASE	500	CS		32,580.00 39,060.00	*JTM PROVISIONS CO INC *JENNIE O TURKEY STORE SALES LLC
17 17.01	Y		Spaghetti Meat Sauce, Turkey (USDA-P) SPAGHETTI SAUCE, TURKEY (6/5#)	1000	CS			*JTM PROVISIONS CO INC
							40,600.00	*JENNIE O TURKEY STORE SALES LLC
17.02			SPAGHETTI SAUCE, TURKEY (6/5#)	500	CS		29,825.00 30,520.00	*JTM PROVISIONS CO INC *JENNIE O TURKEY STORE SALES LLC
18			Turkey Steak, Frozen, Pre-sliced.					
18.01	Y		(USDA-P) TURKEY BREAST STEAK, OIL BROWNED, 140 SERV./CASE	300	CS			*JENNIE O TURKEY STORE SALES LLC
						78.75	23,625.00	CARGILL MEAT SOLUTIONS
18.02			TURKEY BREAST STEAK, OIL BROWNED, 140 SERV./CASE	100	CS	117.04	11,704.00	*JENNIE O TURKEY STORE SALES LLC CARGILL MEAT SOLUTIONS
19			Turkey Breast, Coin slices					
19.01	Υ		(USDA-P) Turkey breast coins, Pre-Sliced.	400	CS			*JENNIE O TURKEY STORE SALES LLC
19.02			Turkey breast coins, Pre-Sliced.	100	CS		5,208.00	*JENNIE O TURKEY STORE SALES LLC
20.01	N	4NS	Turkey Breast Stick, IW. (USDA-P) TURKEY BREAST STICK, IW, 400 EA/CASE	100	CS	34.61	3,461.00	CARGILL MEAT SOLUTIONS
	Y							*JENNIE O TURKEY STORE SALES LLC
20.02			TURKEY BREAST STICK, IW, 400 EA/CASE	25	CS	45.55	1,138.75 5,332.50	CARGILL MEAT SOLUTIONS *JENNIE O TURKEY STORE SALES
21			Turkey breast, Deli sliced.				5,352.30	LLC

Ln#	Award (Y/N)	Reason	Item Description	Quantity	UOM	Price	Extended Price	Supplier
21.01	N	3PQI	(USDA-P) TURKEY DELI MEAT, PRE-SLICED, 12 LBS/CS.	500	CS	21.42	10,710.00	CARGILL MEAT SOLUTIONS
	Y							*JENNIE O TURKEY STORE SALES LLC
21.02			TURKEY DELI MEAT, PRE-SLICED, 12 LBS/CS.	150	CS		5,616.00	*JENNIE O TURKEY STORE SALES LLC
						39.98	5,997.00	CARGILL MEAT SOLUTIONS
22 22.01	Y		Turkey Combo Pack, Italian. (USDA-P) TURKEY COMBO PACK, HAM, SALAMI, PEPPERONI, 12 LBS/CS.	500	CS			*JENNIE O TURKEY STORE SALES LLC
22.02			TURKEY COMBO PACK, HAM, SALAMI, PEPPERONI, 12 LBS/CS.	50	CS		2,004.00	*JENNIE O TURKEY STORE SALES LLC
23			Turkey Ham, Deli Sliced.					
23.01	Υ		(USDA-P) TURKEY HAM, SLICED, 12 LBS/CS.	350	CS			*JENNIE O TURKEY STORE SALES LLC
						24.72	-,	CARGILL MEAT SOLUTIONS
23.02			TURKEY HAM, SLICED, 12 LBS/CS.	50	CS	38.71	1,935.50	CARGILL MEAT SOLUTIONS *JENNIE O TURKEY STORE SALES
							1,956.00	LLC
24			Turkey Bacon, Sliced. Pre-cooked.					
24.01	Y		(USDA-P) TURKEY BACON, COOKED, 600 SLICES/CASE	350	CS			*JENNIE O TURKEY STORE SALES LLC
24.02			TURKEY BACON, COOKED, 600 SLICES/CASE	50	CS		4,095.00	*JENNIE O TURKEY STORE SALES LLC
25			Turkey Pepperoni Coins					
25.01	Υ		(USDA-P) Turkey Pepperoni Coins, Bulk.	200	CS			*JENNIE O TURKEY STORE SALES LLC
25.02			Turkey Pepperoni Coins, Bulk.	50	CS		236.50	*JENNIE O TURKEY STORE SALES LLC
26 26.01	Y		Turkey franks, 8/1. (USDA-P) FRANKS, TURKEY (160/CS)	600	BX	18.12	10 872 00	CARGILL MEAT SOLUTIONS
20.01	'		(COSTT) THURS, TOTALET (100/00)			10.12	21.960.00	*JENNIE O TURKEY STORE SALES
20.00			EDANICO TUDICEV (400 FA/00)	100	BX	20.00	2 000 00	CARGILL MEAT SOLUTIONS
26.02			FRANKS, TURKEY (160 EA/CS)	100	ВХ	38.98	6,000.00	*JENNIE O TURKEY STORE SALES
27			Turkey Chili, Boil in bag.					LLC
27.01	Υ		(USDA-P) TURKEY CHILI (28#/CS)	750	CS			*JTM PROVISIONS CO INC
							30,450.00	*JENNIE O TURKEY STORE SALES LLC
27.02			TURKEY CHILI (28#/CS)	250	cs		16,100.00	*JENNIE O TURKEY STORE SALES LLC
							16,737.50	*JTM PROVISIONS CO INC
28 28.01	Y		Pork, Bar B Que. (USDA-P) BAR-B-Q PORK, 20 LB/CASE (BOIL IN BAG)	500	CS			*BROOKWOOD FARMS
20.01			(BOIL IN BAG)	500	US			INCORPORATED
28.02			BAR-B-Q PORK, 10 LBS./CASE	250	CS	$+ \overline{1}$	20,075.00 9 425.00	*JTM PROVISIONS CO INC *BROOKWOOD FARMS
				250			19.915.00	INCORPORATED *JTM PROVISIONS CO INC
29 29.01		1NL	Pork Carnitas (USDA-P) CARNITAS, PORK, 3/4.65 LBS/CASE	400	CS	$+ \overline{\perp}$	15 212 00	*JTM PROVISIONS CO INC
23.01		1NL	COSTITY OTHER THE TOTAL STREET	400			15,680.00	*BROOKWOOD FARMS
								INCORPORATED
	Y					57.00	22,800.00	ASIAN FOOD SOLUTIONS
<u> </u>								

Ln#	Award (Y/N)	Reason	Item Description	Quantity	UOM	Price	Extended Price	Supplier
29.02			CARNITAS, PORK 10 LBS./CASE	100	CS		4,340.00	*BROOKWOOD FARMS INCORPORATED
						109.50	10,950.00	*JTM PROVISIONS CO INC ASIAN FOOD SOLUTIONS
30 30.01	Y		Salsa (USDA-P) SALSA, 6 #10 CANS/CASE	400	CS			*CALFED FINANCIAL CORPORATION
30.02			SALSA, 6 #10 CANS/CASE	200	CS	27.05	5,410.00	*CALFED FINANCIAL CORPORATION
31			Marinara Sauce					
31.01	Υ		(USDA-P) MARINARA SAUCE, 6 #10 CANS/CASE	2000	CS			*CALFED FINANCIAL CORPORATION
31.02			MARINARA SAUCE, 6 #10 CANS/CASE	500	CS		14,590.00	*CALFED FINANCIAL CORPORATION
32 32.01	Y		Tomato Sauce (USDA-P) TOMATO SAUCE, 6/ #10 CAN/CASE	400	CS			*CALFED FINANCIAL CORPORATION
32.02			Tomato Sauce, 6/#10CN	100	CS		1,955.00	*CALFED FINANCIAL CORPORATION
33			Ketchup	4000	00			*CALEED FINANCIAL CORRORATION
33.01	Y		(USDA-P) KETCHUP, LOW SODIUM, PC, 1000/CASE	4000	CS			*CALFED FINANCIAL CORPORATION
33.02			KETCHUP, LOW SODIUM, PC, 1000/CASE	500	CS		7,110.00	*CALFED FINANCIAL CORPORATION
34 34.01	Y		Enchilada Sauce (USDA-P) ENCHILADA SAUCE, LOW SODIUM, 6 #10	800	CS			*CALFED FINANCIAL CORPORATION
34.02			CANS/CASE ENCHILADA SAUCE, LOW SODIUM, 6 #10 CANS/CASE	200	CS		E 004 00	*CALFED FINANCIAL CORPORATION
34.02			ENGLIEDA GAGE, EGW GODIOW, O #10 GANG/GAGE	200	03			ONE ESTIMATIONE SOLUTION
35 35.01	Y		Salsa Portion Cup (USDA-P) SALSA CUP, 3OZ., 84/CASE	200	CS			*CALFED FINANCIAL CORPORATION
35.02			SALSA CUP, 3OZ., 84/CASE	100	CS		2,765.00	*CALFED FINANCIAL CORPORATION
36			Marinara Dunk Cup	705	00			*CALEED FINANCIAL CORROBATION
36.01	Y		(USDA-P) MARINARA SAUCE DUNK CUPS, 250/CASE	/25	CS			*CALFED FINANCIAL CORPORATION
36.02			MARINARA SAUCE DUNK CUPS, 250/CASE	100	CS		2,549.00	*CALFED FINANCIAL CORPORATION
37 37.01	Y		Bar-B-Que Sauce Dunk Cups (USDA-P) Bar-B-Que dunk Cups	725	CS			*CALFED FINANCIAL CORPORATION
37.02			Bar-b-que dunk cups	100	CS		2,318.00	*CALFED FINANCIAL CORPORATION
38 38.01	Y		Bar-B-Que Sauce (USDA-P) Bar-B-Que Sauce Jugs	300	CS			*CALFED FINANCIAL CORPORATION
JU.U I			- (OODA) Dans Que Sauce Jugs	300	03			SALIED FINANCIAL CONFORMATION
38.02			Bar-B-Que Sauce, Jugs	100	CS		4,155.00	*CALFED FINANCIAL CORPORATION
39			French Fries, Straight Cut					
39.01	N	3TQ	(USDA-P) FRENCH FRIES 30 LBS/CASE	6000	CS		98,640.00	*J R SIMPLOT COMPANY
	N	4NS					131,040.00	*CAVENDISH FARMS INCORPORATED
	Υ							*MCCAIN FOODS
39.02			FRENCH FRIES, 30 LBS/CASE	1000	CS		21,840.00	*CAVENDISH FARMS INCORPORATED
							23,100.00 23,130.00	*J R SIMPLOT COMPANY *MCCAIN FOODS
40			Tater Tots					

Ln#	Award (Y/N)	Reason	Item Description	Quantity	UOM	Price	Extended Price	Supplier
40.01	N	4NS	(USDA-P) TATER TOTS 30 LBS/CASE	2000	cs		27,480.00	*J R SIMPLOT COMPANY
	Y-ALT							*MCCAIN FOODS
							44,300.00	*CAVENDISH FARMS
40.02			TATER TOTS, 30 LBS/CASE	1000	CC		20.400.00	INCORPORATED *J R SIMPLOT COMPANY
40.02			TATER 1015, 30 LB5/CASE	1000	CS		20,400.00	*MCCAIN FOODS
							22,150.00	*CAVENDISH FARMS INCORPORATED
41			Seasoned Curly Fries					
41.01	N N	3TQ 4NS	(USDA-P) FRIES, CURLY, SEASONED, 30 LBS/CASE	4500	CS		88,830.00 91,080.00	*J R SIMPLOT COMPANY *CAVENDISH FARMS INCORPORATED
	Υ							*MCCAIN FOODS
44.00			EDIES CLIDI V SEASONED 20 LDS/CASE	4000	22		20.240.00	*CAVENDISH FARMS
41.02	.02		FRIES, CURLY, SEASONED, 30 LBS/CASE	1000	CS		20,240.00	INCORPORATED
								*MCCAIN FOODS
							26,400.00	*J R SIMPLOT COMPANY
42 42.01	N	2TO	French Fries, Crinkle Cut (USDA-P) FRIES, CRINKLE CUT (6/5#)	6000	CC		09 640 00	*J R SIMPLOT COMPANY
42.01	N N	3TQ 3TQ	(USDA-P) FRIES, CRINKLE CUT (6/5#)	6000	CS		98,640.00 120.600.00	*CAVENDISH FARMS
	Y							INCORPORATED *MCCAIN FOODS
42.02	'		FRIES, CRINKLE CUT (6/5#)	1000	CS		20,100.00	*CAVENDISH FARMS
							23 100 00	*J R SIMPLOT COMPANY
							29,700.00	*MCCAIN FOODS
43 43.01	N	3PP	Roasted Potato Chunks (USDA-P) ROASTED POTATO CHUNKS (6/5#)	1000	cs		16,480.00	*J R SIMPLOT COMPANY
	Y							*MCCAIN FOODS
43.02			Roasted potato chunks, 6/5#	500	CS		9,385.00	*J R SIMPLOT COMPANY
							13 740 00	*MCCAIN FOODS
44			Applesauce Cup, Cinnamon				10,1 10.00	
44.01	Y		(USDA-P) APPLESAUCE CUP, CINNAMON, UNSWEETENED 96/CASE	1000	CS	12.90	12,900.00	PETERSON FARMS FRESH INCORPORATED *NATIONAL FOOD GROUP INC
44.02			APPLESAUCE CUP, CINNAMON, UNSWEETENED 96/CASE	400	CS	12.90	5,160.00	PETERSON FARMS FRESH INCORPORATED
							7,820.00	*NATIONAL FOOD GROUP INC
45			Applesauce Cup, Peach					
45.01	Y		(USDA-P) APPLESAUCE CUP, PEACH, UNSWEETENED 96/CASE	1500	CS	12.90	19,350.00	PETERSON FARMS FRESH INCORPORATED
							24,810.00	*NATIONAL FOOD GROUP INC
45.02			APPLESAUCE CUP, PEACH, UNSWEETENED 96/CASE	300	CS		3,870.00	PETERSON FARMS FRESH
								INCORPORATED
								*NATIONAL FOOD GROUP INC
46			Applesauce Cup, Strawberry					
46.01	Y		(USDA-P) APPLESAUCE CUP, STRAWBERRY, UNSWEETENED 96/CASE	1100	CS	12.90	14,190.00	PETERSON FARMS FRESH INCORPORATED
							18,194.00	*NATIONAL FOOD GROUP INC
46.02			APPLESAUCE CUP, STRAWBERRY, UNSWEETENED 96/CASE	400	CS	12.90	5,160.00	PETERSON FARMS FRESH INCORPORATED
							7,820.00	*NATIONAL FOOD GROUP INC
47			Chicken Breast Patty, Breaded.					
47.01	N	3PQI	(USDA-P) CHICKEN BREAST PATTY BREADED PRE- COOKED (142 CT)	1000	CS	36.96	36,960.00	RICH CHICKS, LLC
				l				

Ln#	Award (Y/N)	Reason	Item Description	Quantity	UOM	Price	Extended Price	Supplier
	Y					38.40	38,400.00	TYSON PREPARED FOODS INC
						53.60	53,600.00	GOLD CREEK FOODS LLC
							68,280.00	*PILGRIMS PRIDE CORP
47.02			CHICKEN BREAST PATTY BREADED PRE-COOKED 148/CASE	500	CS	52.91	26,455.00	TYSON PREPARED FOODS INC
						57.04	28,520.00	RICH CHICKS, LLC
							34,140.00	*PILGRIMS PRIDE CORP
						83.50	41,750.00	GOLD CREEK FOODS LLC
48 48.01	N	3PQI	Chicken Breast Filet, Breaded, Spicy (USDA-P) SPICY CHICKEN BREAST FILET, 132/CASE	2000	CS	36.96	73,920.00	RICH CHICKS, LLC
	N	3PQI				59.49	118,980.00	GOLD CREEK FOODS LLC
	Υ					61.80	123,600.00	TYSON PREPARED FOODS INC
							136,560.00	*PILGRIMS PRIDE CORP
48.02			SPICY CHICKEN BREAST FILET, 132/CASE	500	CS	57.04	28,520.00	RICH CHICKS, LLC
							34,140.00	*PILGRIMS PRIDE CORP
						89.39	44,695.00	GOLD CREEK FOODS LLC
49			Chicken Breast Filet, Breaded, Dill flavor			93.63	46,815.00	TYSON PREPARED FOODS INC
49.01	Y		(USDA-P) Chicken breast filet, breaded, Dill	400	CS	44.40	17,760.00	RICH CHICKS, LLC
49.02			Chicken breast filet, breaded, Dill	50	CS	64.48	3,224.00	RICH CHICKS, LLC
50 50.01	N	3PP	Breakfast Chicken Patty, Breaded (USDA-P) CHICKEN PATTY, BREAKFAST, WG, 200/CASE	1700	CS	25.00	42,500.00	TYSON PREPARED FOODS INC
	N	3TQ				36.96	62,832.00	RICH CHICKS, LLC
	Y							*PILGRIMS PRIDE CORP
						57.25	97,325.00	GOLD CREEK FOODS LLC
50.02			CHICKEN PATTY, BREAKFAST, WG, 200/CASE	300	CS	37.51	11,253.00	TYSON PREPARED FOODS INC
						50.73	15,219.00	RICH CHICKS, LLC
							16,155.00	*PILGRIMS PRIDE CORP
						88.37	26,511.00	GOLD CREEK FOODS LLC
51 51.01	Y		Chicken Breast Filet, Charbroiled (USDA-P) CHICKEN BREAST FILET CHARBROILED	600	CS	27.20	16,320.00	TYSON PREPARED FOODS INC
							31,038.00	*PILGRIMS PRIDE CORP
51.02			CHICKEN BREAST FILET CHARBROILED, 54/CASE	200	CS	38.00	7,600.00	TYSON PREPARED FOODS INC
							10,346.00	*PILGRIMS PRIDE CORP
52 52.01	N	3PQI	Chicken Nuggets (USDA-P) CHICKEN NUGGETS 156 SERV./CASE	1500	CS	35.72	53,580.00	TYSON PREPARED FOODS INC
		3TQ				36.96		RICH CHICKS, LLC
	IN	310				30.90	55,440.00	THOSE OF HORO, ELO

	1 0 (0 0	_						
Ln#	Award (Y/N)	Reason	Item Description	Quantity	UOM	Price	Extended Price	Supplier
	Y							*PILGRIMS PRIDE CORP
						39.97	59,955.00	GOLD CREEK FOODS LLC
						115.04	172,560.00	OUT OF THE SHELL LLC
52.02			CHICKEN NUGGETS, 146 SERVINGS PER CASE	250	CS		9,985.00	*PILGRIMS PRIDE CORP
						48.44		TYSON PREPARED FOODS INC
						50.73	12,682.50	RICH CHICKS, LLC
						63.13	15,782.50	GOLD CREEK FOODS LLC
						137.29	34,322.50	OUT OF THE SHELL LLC
53 53.01	Y		Chicken Nuggets, Spicy (USDA-P) Chicken Nuggets, Spicy	800	CS	39.37	31,496.00	TYSON PREPARED FOODS INC
53.02			Chicken Nuggets, Spicy.	250	CS	53.88	12 470 00	TYSON PREPARED FOODS INC
54			Chicken Tenders				ĺ	
54.01	N	3PQI	(USDA-P) CHICKEN TENDERS, BREADED, WG, 30 LBS/CASE	600	CS	36.96	22,176.00	RICH CHICKS, LLC
		4BV				50.53	30,318.00	GOLD CREEK FOODS LLC
	Y							*PILGRIMS PRIDE CORP
						63.53	38,118.00	TYSON PREPARED FOODS INC
						107.70		FOSTER POULTRY FARMS
54.02			CHICKEN TENDERS, BREADED, WG, 30 LBS/CASE	100	CS	57.04	5,704.00	RICH CHICKS, LLC
							5,929.00	*PILGRIMS PRIDE CORP
						80.43	8,043.00	GOLD CREEK FOODS LLC
						95.88	9,588.00	TYSON PREPARED FOODS INC
						107.70	10,770.00	FOSTER POULTRY FARMS
55 55.01	N	3PP	Chicken Tenders, Spicy (USDA-P) SPICY CHICKEN TENDERS, BREADED, WG, 30	1300	CS	36.96	48,048.00	RICH CHICKS, LLC
			LBS/CASE					
	Y							*PILGRIMS PRIDE CORP
						72.52	94,276.00	TYSON PREPARED FOODS INC
55.02			SPICY CHICKEN TENDERS, BREADED, WG, 30 LBS/CASE	200	CS	57.04	11,408.00	RICH CHICKS, LLC
							12,232.00	*PILGRIMS PRIDE CORP
						97.66	19 532 00	TYSON PREPARED FOODS INC
						37.00	13,332.00	7.700117112711122700201110
56			Boneless Chicken Wings, Spicy					
56.01	N	4NBV	(USDA-P) CHICKEN CHUNKS, BREADED, HONEY SRIRACHA, 88 SERV./CS	1300	CS	44.40	57,720.00	RICH CHICKS, LLC
			SKIRACHA, 00 SERVJUS					
	Y					56.43	73,359.00	TYSON PREPARED FOODS INC
						61.28	79.664.00	GOLD CREEK FOODS LLC
						01.20	,	
56.02			CHICKEN CHUNKS, BREADED, HONEY SRIRACHA, 28 LBS/CASE	300	CS	64.48	19,344.00	RICH CHICKS, LLC
						77.81	33 343 UU	TYSON PREPARED FOODS INC
						11.01	23,343.00	- TOOM TREPARED TOODS INC
						91.18	27,354.00	GOLD CREEK FOODS LLC
- 7			Page la Chialaga Win					
57 57.01	N	1NL	Bone-In, Chicken Wings (USDA-P) CHICKEN WINGS, BONE IN, ROASTED, 30#/CS	2000	CS	43.50	87,000.00	FOSTER POULTRY FARMS

Ln#	Award (Y/N)	Reason	Item Description	Quantity	UOM	Price	Extended Price	Supplier
	N	3TQ				75.00	150,000.00	TYSON PREPARED FOODS INC
	Y							*PILGRIMS PRIDE CORP
57.02			CHICKEN WINGS, BONE IN, ROASTED, 30#/CS	500	CS	43.50	21,750.00	FOSTER POULTRY FARMS
							40,265.00	*PILGRIMS PRIDE CORP
58			Chicken Strips, Dark Meat			99.90	49,950.00	TYSON PREPARED FOODS INC
58.01	N	3PQI	(USDA-P) CHICKEN STRIPS, DARK MEAT (30#/CS)	1300	CS	49.20	63,960.00	TYSON PREPARED FOODS INC
	Y							*PILGRIMS PRIDE CORP
						59.20	76,960.00	GOLD CREEK FOODS LLC
						94.80 117.47	123,240.00 152,711.00	FOSTER POULTRY FARMS OUT OF THE SHELL LLC
58.02			Dark Meat Chicken Strips	200	CS		11,270.00	*PILGRIMS PRIDE CORP
						92.45	18,490.00	TYSON PREPARED FOODS INC
						94.80	18,960.00	FOSTER POULTRY FARMS
						114.27		GOLD CREEK FOODS LLC
						148.12	29,624.00	OUT OF THE SHELL LLC
59			Chicken drumstick, Breaded					
59.01	Y		(USDA-P) CHICKEN DRUMSTICKS, BREADED, 30 LBS/CASE	2200	CS	56.32	123,904.00	TYSON PREPARED FOODS INC
							159,874.00	*PILGRIMS PRIDE CORP
59.02			CHICKEN DRUMSTICKS, BREADED, 30 LBS/CASE	800	cs		58,136.00	*PILGRIMS PRIDE CORP
						78.70	62,960.00	TYSON PREPARED FOODS INC
60 60.01	Υ		Chicken Taco Meat (USDA-P) TACO MEAT, CHICKEN, 20 LBS/CASE	2200	CS	22.13	48,686.00	TYSON PREPARED FOODS INC
60.02			Taco Meat, Chicken	800	CS	48.48	38,784.00	TYSON PREPARED FOODS INC
61 61.01	Y		Chicken Meatballs (USDA-P) MEATBALL, CHICKEN, FULLY COOKED (295	1200	CS	15.10	18,120.00	TYSON PREPARED FOODS INC
			EA/CS)					
	N	3TQ					57,060.00	*PILGRIMS PRIDE CORP
	Y-ALT					59.66	71,592.00	RICH CHICKS, LLC
61.02			MEATBALL, CHICKEN, FULLY COOKED (295 EA/CS)	300	CS	25.60	7,680.00	TYSON PREPARED FOODS INC
							14,265.00	*PILGRIMS PRIDE CORP
						96.07	28,821.00	RICH CHICKS, LLC
62 62.01	N	3PQI	Breakfast Sausage Patty (USDA-P) CHICKEN SAUSAGE PATTY, DARK MEAT	600	CS	36.96	22,176.00	RICH CHICKS, LLC
	N	3PQI	(30#/CS)				25.038.00	*PILGRIMS PRIDE CORP
		JF QI					20,956.00	
	Υ					46.01	27,606.00	TYSON PREPARED FOODS INC

Ln#	Award (Y/N)	Reason	Item Description	Quantity	UOM	Price	Extended Price	Supplier
62.02			CHICKEN SAUSAGE PATTY, DARK MEAT (30#/CS)	200	CS		8,646.00	*PILGRIMS PRIDE CORP
						87.24	17,448.00	RICH CHICKS, LLC
						88.23	17,646.00	TYSON PREPARED FOODS INC
63 63.01	N	3TQ	Orange Chicken (USDA-P) ORANGE CHICKEN, SAUCE & CHICKEN IN CASE, 192/CASE	1500	CS	70.00	105,000.00	TYSON PREPARED FOODS INC
	N	3PQI				81.48	122,220.00	ASIAN FOOD SOLUTIONS
	N	3PP					123,120.00	*CHEFS CORNER FOODS
	Υ					94.08	141,120.00	OUT OF THE SHELL LLC
							177,060.00	*SCHWANS FOOD SERVICE
63.02			ORANGE CHICKEN, SAUCE & CHICKEN IN CASE, 192/CASE	500	CS	98.83	49,415.00	ASIAN FOOD SOLUTIONS
							50,820.00	*CHEFS CORNER FOODS
						109.52		TYSON PREPARED FOODS INC
						113.13	56,565.00	OUT OF THE SHELL LLC
							69,610.00	*SCHWANS FOOD SERVICE
64			General Tso Chicken					
64.01	N	3TQ	(USDA-P) GENERAL TSO CHICKEN, BREADED, 192 SERV./CASE	600	CS	70.00	,	TYSON PREPARED FOODS INC
	N	3PP				81.48	48,888.00	ASIAN FOOD SOLUTIONS
	N	3PP					49,248.00	*CHEFS CORNER FOODS
	N	3TQ					56,052.00	*SCHWANS FOOD SERVICE
	Υ					95.42	57,252.00	OUT OF THE SHELL LLC
64.02			GENERAL TSO CHICKEN, BREADED, 192 SERV./CASE	150	CS	98.83	14,824.50	ASIAN FOOD SOLUTIONS
							15,246.00	*CHEFS CORNER FOODS
						109.52	16,428.00	TYSON PREPARED FOODS INC
						114.47	17,170.50	OUT OF THE SHELL LLC
65 65.01	N	3TQ	Sweet & Sour Chicken (USDA-P) Sweet & Sour Chicken	400	CS	70.00	28,000.00	TYSON PREPARED FOODS INC
	N	3TQ					32,832.00	*CHEFS CORNER FOODS
	N	3TQ				83.12	33,248.00	ASIAN FOOD SOLUTIONS
	Y					95.42	38,168.00	OUT OF THE SHELL LLC
							44,828.00	*SCHWANS FOOD SERVICE

Ln#	Award (Y/N)	Reason	n 5					
!			Item Description	Quantity	UOM	Price	Extended Price	Supplier
65.02			Sweet & Sour Chicken	100	CS	100.47	10,047.00	ASIAN FOOD SOLUTIONS
							10,164.00	*CHEFS CORNER FOODS
						109.52	10,952.00	TYSON PREPARED FOODS INC
						114.47	11,447.00	OUT OF THE SHELL LLC
							13,325.00	*SCHWANS FOOD SERVICE
66 66.01	N	3PP	Teriyaki Chicken (USDA-P) Teriyaki Chicken	400	CS	81.60	32,640.00	ASIAN FOOD SOLUTIONS
	Y					83.88	33,552.00	OUT OF THE SHELL LLC
							35,136.00	*CHEFS CORNER FOODS
							39,380.00	*SCHWANS FOOD SERVICE
66.02			TERIYAKI CHICKEN, 240 SERV./CASE	100	CS	104.62	10,462.00	ASIAN FOOD SOLUTIONS
						106.87	10,687.00	OUT OF THE SHELL LLC
							10,797.00	*CHEFS CORNER FOODS
							12,225.00	*SCHWANS FOOD SERVICE
67 67.01	Υ		Cheese Cheddar, Shredded (USDA-P) CHEESE CHEDDAR SHREDDED 20#	1800	CS	11.10	19,980.00	ADVANTAGE WAYPOINT LLC
67.02			CHEESE, CHEDDAR, SHREDDED, 20 LBS. / CASE	200	CS	43.84	8,768.00	ADVANTAGE WAYPOINT LLC
68 68.01	Y		Cheese, American (USDA-P) CHEESE, AMERICAN 6/5#	1200	CS	24.75	29,700.00	ADVANTAGE WAYPOINT LLC
68.02			CHEESE, AMERICAN, 30 LBS. / CASE	300	CS	60.38	18,114.00	ADVANTAGE WAYPOINT LLC
69 69.01	Y		Cheese, Pepper Jack (USDA-P) CHEESE, PEPPER JACK, SLICED (384 SLICES/CS)		CS	16.56	3,312.00	ADVANTAGE WAYPOINT LLC
69.02			CHEESE, PEPPER JACK, SLICED, 4/5 LBS/CASE	100	CS	36.20	3,620.00	ADVANTAGE WAYPOINT LLC
70			Swiss Cheese, sliced					
70.01 70.02	Y		(USDA-P) Cheese, Swiss, sliced. Chsese, Swiss, sliced.		CS CS	20.76 40.40		ADVANTAGE WAYPOINT LLC ADVANTAGE WAYPOINT LLC
71.01	Y		Cheese, Mozzarella (USDA-P) CHEESE, MOZZARELLA, LOW SODIUM, 20 LBS/CASE	1200		10.60	(1)	ADVANTAGE WAYPOINT LLC
71.02			CHEESE, MOZZARELLA, LOW FAT, 4/5#	300	CS	43.34	13,002.00	ADVANTAGE WAYPOINT LLC
72 72.01	Y		Cheese, String (USDA-P) CHEESE, STRING, IW, 168/CASE	1800	CS	12.50	22,500.00	ADVANTAGE WAYPOINT LLC
72.02 73			CHEESE, STRING, IW, 168/CASE Cheese Cracker Cuts, Mild Cheddar	200	CS	29.69	5,938.00	ADVANTAGE WAYPOINT LLC
73.01	Υ		(USDA-P) Cheese cracker cuts, Mild Cheddar.	400	CS	31.95	12,780.00	ADVANTAGE WAYPOINT LLC
73.02			Cheese cracker cuts, Mild Cheddar.	100	CS	56.50	5,650.00	ADVANTAGE WAYPOINT LLC
74 74.01	N	4NS	Cheese Sauce (USDA-P) CHEESE SAUCE 6/5 LB BAGS	1700			56,168.00	*JTM PROVISIONS CO INC
	Y					36.38	61 846 00	ADVANTAGE WAYPOINT LLC

Ln#	Award (Y/N)	Reason	Item Description	Quantity	UOM	Price	Extended Price	Supplier
75.01	N	4NS	(USDA-P) ITALIAN CHEESE SAUCE, SHELF STABLE, 6/106 OZ./CASE	1000	CS		42,390.00	*JTM PROVISIONS CO INC
75.02	Y		ITALIAN CHEESE SAUCE, SHELF STABLE, 6/106 OZ./CASE	200	CS	42.98	42,980.00 11,132.00	ADVANTAGE WAYPOINT LLC *JTM PROVISIONS CO INC
70			Macaroni & Cheese			66.84	13,368.00	ADVANTAGE WAYPOINT LLC
76 76.01	Y-ALT #5756		(USDA-P) MACARONI & CHEESE (REDUCED FAT) 6/5#	1600	CS			*JTM PROVISIONS CO INC
							58,544.00	*ES FOODS
76.02			MACARONI & CHEESE, WG, REDUCED FAT, 30 LBS/CASE	400	CS		15,748.00 18,992.00	*JTM PROVISIONS CO INC *ES FOODS
						52.74	21,096.00	ADVANTAGE WAYPOINT LLC
77 77.01	Y		Cavatappi, Three Cheese (USDA-P) Cavatappi, Three Cheese	1800	CS			*JTM PROVISIONS CO INC
77.02			Cavatappi, Three Cheese	200			10,216.00	*JTM PROVISIONS CO INC
78 78.01	Y		Pizza Dough, Par-baked (USDA-P) BREADSTICK, CHEESE STUFFED, WG, 200/CASE	2200	CS			*CONAGRA FOODS INCORPORATED
76.01			(OSDA-1) BREADSTICK, CHEESE STOLLED, WG, 200/CASE	2200	03			CONTROL OF CONTROL CONTROL
						27.50	60,500.00	TYSON PREPARED FOODS INC
						30.22	66,484.00	SA PIAZZA & ASSOCIATES LLC
								*SCHWANS FOOD SERVICE
78.02			BREADSTICK, CHEESE STUFFED, WG, 100 SERV./CASE	300	cs		7,608.00	*CONAGRA FOODS INCORPORATED
						42.83	12,849.00	TYSON PREPARED FOODS INC
							14,406.00	*SCHWANS FOOD SERVICE
79			Pepperoni Stuffed Sandwich			56.46	16,938.00	SA PIAZZA & ASSOCIATES LLC
79.01	N	3PQI	(USDA-P) BREADSTICK, PEPPERONI & CHEESE STUFFED, WG, 72/CASE	2600	CS	25.61	66,586.00	TYSON PREPARED FOODS INC
	Y							*SCHWANS FOOD SERVICE
79.02			BREADSTICK, PEPPERONI & CHEESE STUFFED, WG.	400	CS		92,638.00	*CONAGRA FOODS INCORPORATED *SCHWANS FOOD SERVICE
			72/CASE			31.37	12,548.00	TYSON PREPARED FOODS INC
							17,200.00	*CONAGRA FOODS INCORPORATED
80			Cheese Pizza, 16"					
80.01	Y		(USDA-P) PIZZA, CHEESE, 16", WG, 72 SERVINGS/CASE	550	CS			*ALPHA FOODS CO
							21,917.50	*NARDONE BROS BAKING CO INC
						FC 70	26,196.50	*SCHWANS FOOD SERVICE UNO FOODS INC
						56.58		SA PIAZZA & ASSOCIATES LLC
80.02			PIZZA, CHEESE, 16", WG, 72 SERVINGS/CASE	200	CS	55.50	8,956.00	*ALPHA FOODS CO
						59.60	10.630.00	*NARDONE BROS BAKING CO INC SA PIAZZA & ASSOCIATES LLC
							12,520.00	*SCHWANS FOOD SERVICE
			Danassa: Direc 408			76.54	15,308.00	UNO FOODS INC
Q1								
81 81.01	Y		Pepperoni Pizza, 16" (USDA-P) PIZZA, PEPPERONI, 16", WG, 72	3300	CS			*ALPHA FOODS CO

Ln#	Award (Y/N)	Reason	Item Description	Quantity	UOM	Price	Extended Price	Supplier
							133,782.00	*NARDONE BROS BAKING CO INC
								*SCHWANS FOOD SERVICE
						61.10	201,630.00	SA PIAZZA & ASSOCIATES LLC
						62.28	205,524.00	UNO FOODS INC
81.02			PIZZA, PEPPERONI, 16", WG, 72 SERVINGS/CASE	500	CS		22,545.00	*ALPHA FOODS CO
								*NA DRONE DROG BALVING GO ING
						61.10	30,550.00	*NARDONE BROS BAKING CO INC SA PIAZZA & ASSOCIATES LLC
								*SCHWANS FOOD SERVICE
						79.74	39 870 00	UNO FOODS INC
							30,010.00	
82	Y		Pizza, Ultimate Meat 16"	4000	00			*ALPHA FOODS CO
82.01	Y		(USDA-P) Pizza, Ultimate Meat 16"	1200	CS		56,280.00	*NARDONE BROS BAKING CO INC
							62,136.00	*SCHWANS FOOD SERVICE
						64.22	77,064.00	UNO FOODS INC
						69.96	83 952 00	SA PIAZZA & ASSOCIATES LLC
						55.50	00,302.00	The state of the s
82.02			Pizza, Ultimate Meat 16"	300	CS		16.500.00	*NARDONE BROS BAKING CO INC
02.02			Tizza, olimate Mode 10				17,691.00	*ALPHA FOODS CO
								*SCHWANS FOOD SERVICE
						69.96	20,988.00	SA PIAZZA & ASSOCIATES LLC
						80.44	24,132.00	UNO FOODS INC
83			Cheese Pizza, Wedge					
83.01	Y		(USDA-P) PIZZA CHEESE WEDGE 96/CASE	1200	CS			*NARDONE BROS BAKING CO INC
							37,140.00	*CONAGRA FOODS INCORPORATED
						59.68	71,616.00	UNO FOODS INC
						67.30	80,760.00	SA PIAZZA & ASSOCIATES LLC
83.02			PIZZA CHEESE WEDGE 51% WHOLE GRAIN	300	CS		14,100.00	*NARDONE BROS BAKING CO INC *CONAGRA FOODS INCORPORATED
							15,300.00	
						07.00		SA PIAZZA & ASSOCIATES LLC
						67.30	20,190.00	
						79.64		UNO FOODS INC
			Pepperoni Pizza, Wedge					UNO FOODS INC
	Y		Pepperoni Pizza, Wedge (USDA-P) PIZZA PEPPERONI WEDGE 96/CASE	2000	CS			UNO FOODS INC *NARDONE BROS BAKING CO INC
	Y		Pepperoni Pizza, Wedge (USDA-P) PIZZA PEPPERONI WEDGE 96/CASE	2000	CS			UNO FOODS INC *NARDONE BROS BAKING CO INC
	Y		Pepperoni Pizza, Wedge (USDA-P) PIZZA PEPPERONI WEDGE 96/CASE	2000	CS	79.64	23,892.00 76 280.00	*NARDONE BROS BAKING CO INC *CONAGRA FOODS INCORPORATED
84 84.01	Y		Pepperoni Pizza, Wedge (USDA-P) PIZZA PEPPERONI WEDGE 96/CASE	2000	CS		23,892.00 76 280.00	UNO FOODS INC *NARDONE BROS BAKING CO INC
	Y		Pepperoni Pizza, Wedge (USDA-P) PIZZA PEPPERONI WEDGE 96/CASE	2000	CS	79.64	23,892.00 76.280.00 131,960.00	"NARDONE BROS BAKING CO INC "CONAGRA FOODS INCORPORATED UNO FOODS INC
	Y		Pepperoni Pizza, Wedge (USDA-P) PIZZA PEPPERONI WEDGE 96/CASE	2000	CS	79.64	23,892.00 76.280.00 131,960.00	*NARDONE BROS BAKING CO INC *CONAGRA FOODS INCORPORATED
	Y		Pepperoni Pizza, Wedge (USDA-P) PIZZA PEPPERONI WEDGE 96/CASE PIZZA PEPPERONI WEDGE 51% WHOLE GRAIN	2000		79.64	23,892.00 76.280.00 131,960.00	"NARDONE BROS BAKING CO INC "CONAGRA FOODS INCORPORATED UNO FOODS INC
84.01	Y		(USDA-P) PIZZA PEPPERONI WEDGE 96/CASE			79.64	23,892.00 76.280.00 131,960.00	"NARDONE BROS BAKING CO INC "CONAGRA FOODS INCORPORATED UNO FOODS INC SA PIAZZA & ASSOCIATES LLC "NARDONE BROS BAKING CO INC
84.01	Y		(USDA-P) PIZZA PEPPERONI WEDGE 96/CASE			79.64 65.98 68.90	23,892.00 70,250.00 131,960.00 137,800.00 25,125.00 28,000.00	"NARDONE BROS BAKING CO INC "CONAGRA FOODS INCORPORATED UNO FOODS INC SA PIAZZA & ASSOCIATES LLC "NARDONE BROS BAKING CO INC "CONAGRA FOODS INCORPORATED
84.01	Y		(USDA-P) PIZZA PEPPERONI WEDGE 96/CASE			79.64	23,892.00 70,250.00 131,960.00 137,800.00 25,125.00 28,000.00	"NARDONE BROS BAKING CO INC "CONAGRA FOODS INCORPORATED UNO FOODS INC SA PIAZZA & ASSOCIATES LLC "NARDONE BROS BAKING CO INC
84.01	Y		(USDA-P) PIZZA PEPPERONI WEDGE 96/CASE			79.64 65.98 68.90	23,892.00 76,280.00 131,960.00 137,800.00 23,125.00 28,000.00 34,450.00	"NARDONE BROS BAKING CO INC "CONAGRA FOODS INCORPORATED UNO FOODS INC SA PIAZZA & ASSOCIATES LLC "NARDONE BROS BAKING CO INC "CONAGRA FOODS INCORPORATED SA PIAZZA & ASSOCIATES LLC
84.01	Y		(USDA-P) PIZZA PEPPERONI WEDGE 96/CASE PIZZA PEPPERONI WEDGE 51% WHOLE GRAIN			79.64 65.98 68.90	23,892.00 76,280.00 131,960.00 137,800.00 23,125.00 28,000.00 34,450.00	"NARDONE BROS BAKING CO INC "CONAGRA FOODS INCORPORATED UNO FOODS INC SA PIAZZA & ASSOCIATES LLC "NARDONE BROS BAKING CO INC "CONAGRA FOODS INCORPORATED
84.01	Y		(USDA-P) PIZZA PEPPERONI WEDGE 96/CASE		CS	79.64 65.98 68.90	23,892.00 76,280.00 131,960.00 137,800.00 23,125.00 28,000.00 34,450.00	"NARDONE BROS BAKING CO INC "CONAGRA FOODS INCORPORATED UNO FOODS INC "ARDONE BROS BAKING CO INC "NARDONE BROS BAKING CO INC "CONAGRA FOODS INCORPORATED SA PIAZZA & ASSOCIATES LLC

Award (Y/N)	Reason	Item Description	Quantity	UOM	Price	Extended Price	Supplier
						27,504.00	*SCHWANS FOOD SERVICE
					65.76	52,608.00	SA PIAZZA & ASSOCIATES LLC
		Breakfast Pizza	200	CS		4,614.00	*NARDONE BROS BAKING CO INC
						7,000,00	*SCHWANS FOOD SERVICE
						7,620.00	
					65.76	13,152.00	SA PIAZZA & ASSOCIATES LLC
			200	00			*NARDONE BROS BAKING CO INC
Y			300	CS		© 200 00	*NARDONE BROS BAKING CO INC
			200	03		0,200.00	NARBONE BROS BARING CO INC
Υ			1000	CS			*NARDONE BROS BAKING CO INC
						10.750.00	*NARDONE BROS BAKING CO INC
		Garlic Cheese French Bread					
N	3PP	(USDA-P) GARLIC CHEESE FRENCH BREAD (60 EA/CS)	2500	CS		71,325.00	*NARDONE BROS BAKING CO INC
Y							*SCHWANS FOOD SERVICE
		GARLIC CHEESE FRENCH BREAD (60 EA/CS)	300	CS		12,300.00	*NARDONE BROS BAKING CO INC
							*SCHWANS FOOD SERVICE
		Buffalo Chicken flatbread					
Υ			900	CS			*NARDONE BROS BAKING CO INC
						10.076.00	*NARDONE BROS BAKING CO INC
		Mini Quesadillas, Taco Style					
Y		(USDA-P) Mini Quesadillas, Beef and Cheese	2000	CS			*CONAGRA FOODS INCORPORATE
		Mini Quesadillas. Beef and Cheese	200	CS		9.000.00	*CONAGRA FOODS INCORPORATE
	Y	Y N 3PP Y	Breakfast Pizza Breakfast Flatbread (USDA-P) Breakfast Flatbread Breakfast Flatbread Breakfast Flatbread, IW (USDA-P) Breakfast flatbread, IW. 80/case Breakfast flatbread, IW. 80/case Garlic Cheese French Bread N 3PP (USDA-P) GARLIC CHEESE FRENCH BREAD (60 EA/CS) Y GARLIC CHEESE FRENCH BREAD (60 EA/CS) Buffalo Chicken flatbread (USDA-P) FLATBREAD, BUFFALO CHICKEN (96 EA/CS) FLATBREAD, BUFFALO CHICKEN, 96 EA/CS Mini Quesadillas, Taco Style	Breakfast Pizza 200 Breakfast Flatbread 800 Breakfast Flatbread 200 Breakfast Flatbread 200 Breakfast flatbread, IW 200 Breakfast flatbread 250 Garlic Cheese French Bread 250 Garlic Cheese French Bread 250 William 200 William 200 GARLIC CHEESE FRENCH BREAD (60 EA/CS) 2500 William 200 Buffalo Chicken flatbread 200 William 20	Breakfast Pizza 200 CS	Breakfast Pizza	Breakfast Pizza

3PP - Poor Product Performance
3TQ- Taste Quality of Product Unacceptable
3PQI - Product Quality Inferior
4NS - Not to Specifications
4NBV - Not best overall value based on extended pricing

1NL - Not low when unit price is calculated 4BV - Best overall value for this group of items